addend

addends



algorithm

Partial Product Example

555

|
X7
35 Step 1. Multiply the ones.

350 Step 2: Multiply the tens.
3500 Step 3: Multiply the hundreds.
3885 Step 4: Add the partial products.

Partial Product Example

= 555

a_l O r I th I I l — Step-by-step method
35 Step 1: Multiply th . .

g 350 Stgg 2: MEIt:Elz thg ?enness_ for Compu“ng'

3500 Step 3: Multiply the hundreds.
3885 Step 4: Add the partial products.




2 rows of 5 = 10 square units
or

area 2 X 5 =10 square units

2 rows of 5 = 10 square units .
The measure, in square

or _ In squ
2 x 5 = 10 square units units, of the interior
region of a 2-

a. re a. dimensional figure or the
surface of a
- 3-dimensional figure.




area model

20 + 8

9 9 x20=180 9x8=72 A model of

a rea m O d e I multiplication that shows

each place value product

9 x 28 = (9 x 20) + (9 x 8) = 252




3rowsof 4 @ @ @ @

array T X X X

PR X X X

a r ra 3rowsof4 @ @@ @ An arrangement of
or o 00 0 objects in equal rows.

3x4 ' X X



Assoclative Property of
Addition

Assoclative
Property of
Addition Lo=15

ASSO C i at i Ve The sum stays the same
when the grouping of
ddends is changed.
PrO ert Of (aib)+c:a+(b+c),
p y 15=15 where a, b, and ¢ stand for

Ad d i ti O n any real numbers.



Assoclative Property of
Multiplication

Assoclative

Property of
Multiplication 105 =105
Associative e e s o
Property of 105 - 105 by xcsax(oxe)

where a, b, and ¢ stand

M u Itl pl ICatl On for any real numbers.



attribute

attribute




L
3
Y — axis—
-
2
aX I S i
0 - - )
origin " t - 34

X — axis

A reference line from
which distances or

aX I S angles are measured in a
| coordinate grid.

(plural — axes)

0

P 0 1 2 3
origin 7 t -
X — axis

« N\



base of an exponent

base of an Y%
exponent A0

nnnnnnnn he number that is
b f / raised to a power.
aSG O an 4 In 10*, 10 is the base
and 4 is the exponent.
base™ 10 is raised to the power
exponent of 4. (10" =10 x 10 x
10 x 10 = 10,000)



pase of a solid figure

base of a
solid figure

base of a A base o ol igure
- o “fz?\ce upon whiph it can
solid figure

sit.” Most solid figures
have more than one base.




benchmark fractions

benchmark 111 2 3
fractions 432 3 4

benChmark 1 1 1 2 3 Fractions that are

;
commonly used for

fractions 1393 4




braces

braces — —~
{0, 1, 2, 3,4, 5}

Braces can be used to
braces indicate that the objects
b races / written between them
\ belong to a set.
{0, 1, 2, 3, 4, 5}




brackets

brackets [(2x20)+ 6]

Ayp fg pg

brackets [(x20)+6] ° et

flrst.



centimeter (cm)

centimeter .
(C m) e 0.01 of a meter.




Commutative Property
of Addition

Commutative
Property of 5+3=3+5
Addition
CO m m Utatlve The sum stays the same

when the order of the

Prope rty Of 5 L 3 — 3 - 5 addends is changed.

a+b=Db+a, where aand

Ad d |t| on b are any real numbers.



Commutative Property
of Multiplication

Commutative soee
Property of Bagistg suse

Multiplication 7 ren

- [ N N N
CO mm Utatlve = The product stays the
f ....... S e same when the order of
ooooooo o000 the factors is changed.
Propertyo oo foc o e axb=Dbxa, where aand

MUltlp“Cathn i = 7 b are any real numbers.



COMpOSE

2 triangles can form a rectangle

To put together, as in
numbers or shapes.

compose

2 triangles can form a rectangle



coordinate plane

coordinate |
plane [T,

A 2-dimensional system in
which the coordinates of a

coordinate

two intersecting, usually
perpendicular, straight lines

I a_n e | called axes. (Also called
coordinate grid or

ok : 2 3 ) coordinate system.)




coordinate system

coordinate |
system 1,

Also known as a coordinate
. ’ g.rid. A .
coordinate . s
point are its distances from
SySte m ! two intersecting, usually

perpendicular, straight lines
T called axes.

X




coordinates

=
—
CDQJ

coordinates - oo
. 2 ne.




corresponding terms

1** Term | 2% Term | 3" Term | 4** Term

corresponding
terms B

Terms that are in the
same position in a
sequence of numbers.

In the pattern shown, 9

corresponding
te rmS = 3 6 f)\ 12 and 18 are the 3rd terms
In each sequence—they

Add 6 \} .
6 | 12 |N§/| 4 are corresponding terms.




cubic unit

f .
- N o Lunit
A1
b - - 1 unit A unit such as a cubic
|
C u I C u n It /l meter tgrrgzgzléirteyyo ume
.



customary system

customary
system

S—
customary

system




O

Number of School Carnival -
Tickets Sold

Kindergarten 22

1* Grade 15

a a 2" Grade 34
3™ Grade 9

4™ Grade 16

5% Grade 20

6™ Grade 11

Number of School Carnival N

Tickets Sold Information, especially

Kinderguten CEE— numerical information.
a a 2 Grade 54 Usually organized for

3™ Grade o .
4% Grade 16 anaIyS|S.
s® Grade 29

6 Grade 11




decimal

- $29.45 53.0
decimal 5 02

A number with one or
digits to the right

decimal $29.45  rmotgnioters
Decimal is used as
3.0 0.02

another name for
decimal fraction.



decimal point

decimal 4155 3.2
pO I nt dTecimaI poirr'rs

deCi mal $1 .55 3‘2 A dot separating the

whole number from the
- T T fraction in_decimal
O I nt ] ] notation.
decimal points



decompose

342

decompose o

(3x100)+{4 x10)+({2x1)

d /3?2\ To separate irt])to |
t
ccompose T A

(3x100)+{4x10)+(2x1)



denominator

* * Thq ttyblwth

lin a fraction. It tells

denominator — * * e number of equa

parts into which a whole
44/ denominator is divided,



difference

49.75-13.9 = 35.85

difference o

difference

- 49.75-13.9=35.85 The amount that r_emf':\ins
difference S iyl

difference



Distributive Property

Distributive [ - [-]:

6x14= 6x(10+ 4)*Break up the 14 into 10 + 4

Property o

(6x 10)+(6x4)
60 + 24 = 84

10 4

60 When one of the factors

DIStrIbUtIVG i B of a product is a sum,

_ multiplying each addend
6x14= 6x (10 + 4)*Break up the 14 into 10 + 4

bef dding d t
P rO pe rty N ir?;ﬁgi tr:g %roodeuscrt].o

(=]

Bx10)+ (B x4)
60 + 24 = 84



dividend

dividend



divisor

. - The quantity by which
h ityistob
d IVI SO r \ another g:J\;’:llr(;t;;[jy IS to be

divisor



equation

These expressions balance the
scale because they are equal.

9x3 = 20+ 7
- \I/ \r/ A statement that two
equation I i
These expressions balance the expressions are equal.

scale because they are equal.




equivalent fraction

equivalent ;
fraction E
eq u ival e nt j; Fractions that have the
fraction ﬂ




estimate

\
A ber cl
im 3.5 exact arourt, a0
eStI ate 4 + 6 ~ 2 estimate tells about how

/ much.
equal to




evaluate

To find the value of a



expanded form

expanded 347.392 =

3x100+4x10+7x1 +
3 x(1/10) + 9 x (1/100) +

fO r m 2 x (1/1000)

expan d ed 347.392 = A way to write numbers

3x100+4x10+7x1 + that shows the place
3 x (1/10) + 9 x (1/100) + value of each digit.

fO r m 2 x (1/1000)



exponent

Exponent

/“
exponent 104

10 x 10 x 10 x 10 = 10,000

Exponent

“
4 The number that tells the
eX p O n e nt Iwzl 0 number of times the base
Is multiplied by itself.

10 x 10 x 10 x 10 = 10,000



expression

A variable
combinatlon of

expression x + 3 il

mathematical

equal s relationship.



factor

2 X 6 — 12 An integer that divides

faCtO r \I evenly into another.

factors



finite decimal

fl n I te Example: A decimal that contains

a terminating number of

- O 2 5 digits. (Also called a

d eC I m al 0 terminating decimal.)



formula

formula e |

+—— length ——

! A general equation or

formula Tl ||l e, voucanusea

In a rectangular prism.

<+— length —



greater than

greater @ .9

than -

greater 3

than = - . ., ‘oo
eeeeeeeeeeeee
5>3



hundredth

hundredth




hundredths

hundredths 4,



Improper fraction

Improper
fraction

I I I l p rO pe r A fraction where the
<« Greater than numerator is greater than
] (or equ_al to) or e e
fraCtI O n 5 nnnnnnnnnnn denominator.



Inequality

8+ 8+3#13+5

Inequality

These expressions do not balance
the scale because they are not
equal.

A mathematical sentence
8 4 8+3#13+5
3 that compares two
unequal expressions
using one of the symbols
These expressions do not balance <’ >, or ;é eg 26 > 13’

the scale because they are not

equal. 13<26,2+4<6+3

Inequality



Intersect

intersect ><



less than

less than @

3<5

less than @ 5 o

3 < 5 nnnnnn



like denominators

like 35 7

denominators g g g
ike 39 [

denominators 388



line plot

-
D
O
O
g

3 3 4 5

2
m A diagram showing

. frequency of data on a
XX number line.
X X X

line plot

T M M

A B B B B A B

2 3 4 5
Number of Pets



long division

332 R0
23)7636
lon )
73
| | | .ﬁ.
46
0
332 R0
2357636
I O n =69 A standard procedure
73 suitable for dividing
= = = -69 simple or complex multi-
d IVI S I O n 46 digit numbers.
46



lowest terms

N

4 in lowest terms is %

A fraction where the
numerator and

I OWeSt te r m S denominator have no

4 . .1 common factor greater
3 in lowest terms is > than 1.










